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Write a program which will find all such numbers which are divisible by 7 but
are not a multiple of 5, between 2000 and 3200 (both included).The numbers
obtained should be printed in a comma-separated sequence on a single line.

o o5 3l Olieliae (o e LeST5 7 e Dol AL 2B,V edn JS s Gl y ST
Ui Jouhed Glede Jpamdl o3 1B,V doll o ((Oliomie LaadS)) 3200 5 2000

.Jo—\jj.ls.u L;L:« :\L,al.a.’
:2gAll
for i in range(2000, 3201):
ifi%7==0andi%5 !=0:
print(i, end=","
print("\b")
:ChatGPT ¢ juw

This code snippet outputs all the numbers between 2000 and 3200 (inclusive)
that are divisible by 7 but not divisible by 5.

The for loop iterates over the range of numbers from 2000 to 3200 and
the if statement inside the loop checks if the current number i is divisible by
7 but not divisible by 5. If the condition is true, then the current number i is
printed, followed by a comma.

Finally, the \b at the end of the code removes the last comma.
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Write a program which can compute the factorial of a given numbers.The
results should be printed in a comma-separated sequence on a single

line.Suppose the following input is supplied to the program: 8 Then, the
output should be:40320.

40320 21,31 055 O o 03 8 el 08 5 o5 JLIN JB-3 W1 0 6 231 oty o

Haletatl |
n = int(input())
fact = 1
for i in range(1, n + 1):
fact = fact * 1
print(fact)
:ChatGPT g i

This code snippet is a simple program that calculates the factorial of a given
number.

The first line of code is getting an input from the user and assigns it to the
variable n. The int function is used to convert the input to an integer.

The next line creates a variable called fact and assigns it the value of 1.

The following for loop starts with the variable i set to 1, and it will run as long
as iis less than or equal to n + 1, and i will increment by 1 after each iteration.

In each iteration, the value of fact is multiplied by i and the result is stored in
fact again, so on each iteration fact will be updated with the new value.

After the loop has finished, the final value of fact is printed using the print()
function.

M&)U)ﬂUM(%%@bﬁfﬁ)L&\Msﬂ‘m
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With a given integral number n, write a program to generate a dictionary that
contains (i, i x i) such that is an integral number between 1 and n (both

included). and then the program should print the dictionary. Suppose the
following input is supplied to the program: 8.

JBsW1 o o 231 o galddl deldas sl i o5 (s (oo LeaDS) 1 5 1y Broens U3,
8 il o 5 05 Jul

Haletatl |
n = int(input())
ans = {}
for i in range(1, n + 1):
ans[i] =1 * i
print(ans)
:ChatGPT g i

This code snippet is a simple program that creates a dictionary where the keys
are the integers from 1 ton, and the values are the square of the
corresponding key.

The first line of code is getting an input from the user and assigns it to the
variable n. The int function is used to convert the input to an integer.

The next line creates an empty dictionary called ans.

The following for loop starts with the variable i set to 1, and it will run as long
as iis less than or equal ton + 1, and i will increment by 1 after each
iteration.

In each iteration, the i is used as key in the dictionary ans and the value is
calculated as i * i and assigned to that key. After the loop has finished, the
final dictionary ans is printed using the print() function.
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Write a program which accepts a sequence of comma-separated numbers
from console and generate a list and a tuple which contains every number.
Suppose the following input is supplied to the program:

o 23 £LiL (35 oSowtll 8y (pn Joolpie D puairadl o531 e Sl Ly Grals S
el I el b 5 o5 il o 3l (o8 IS e (g 5o

Haletatl |
1st = input().split(",")
tpl = tuple(lst)
print(1lst)
print(tpl)
:ChatGPT e i

This code snippet is a simple program that takes a string of comma-separated
values as input, converts it to a list and then converts it to a tuple.

The first line of code is getting an input from the user and assigns it to the
variable 1st, The split() method is used to convert the input string into a
list of strings by splitting it at each comma.

The next line of code creates a variable called tpl, and it uses
the tuple() function to convert the 1st variable from a list to a tuple.

The last two lines of code are using the print() function to display
the 1st variable and the tpl variable on the screen.
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Define a class which has at least two methods:

e getString: to get a string from console input
e printString: to print the string in upper case.:

Y e b b L 25 e

.riaﬂmx>jdual0»§¢51LJML;pJ}¢)&:getStPing o
55,08 O oL Lnadl Al Zelk) :printString e

:2gAll
class IOstring:
def __init_ (self):
pass
def get_string(self):
self.s = input()
def print_string(self):
print(self.s.upper())
xx = IOstring()
xx.get_string()
xx.print_string()
:ChatGPT g i

This code snippet is a simple program that defines a class called I0string,
which has two methods: get_string() and print_string().

The __init__ method is the constructor of the class, it is called when an
object of this class is created and does not have any specific functionality in
this case, it just pass.

The get_string() method prompts the user to input a string and assigns it
to the variable s as an attribute of the class.

The print_string() method then takes the value stored in the s attribute,
converts it to uppercase using the upper() method, and prints it out.



ChatGPT folaaiwl ygiL rolci

The last three lines of code are creating an object of the 10string class
called xx, calling the get_string() method on it to set the value of
the s attribute, and then calling the print_string() method to print the
value of s in uppercase.

.print_string() s get_string()
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Write a program that calculates and prints the value according to the given
formula:

Q = Square root of [(2 _ C _ D)/H]
Following are the fixed values of C and H:

e Cis50.His 30.

D is the variable whose values should be input to your program in a comma-
separated sequence. For example Let us assume the following comma
separated input sequence is given to the program:

iadeall dral) G5 Lgndas s o] ey sl ST
Q = Square root of [(2 _ C _ D)/H]
Ho CJ &bl o all s Lo
e (Cis50.His 30.
ub/.:.&;.lQL&A\M&;.ylﬂﬁwwg&wbﬁé@Juslwéblw\ﬁD
el el osla] 5 05 sl J guaie JUII JBYI s O
Haletatl |
from math import sqrt
C, H =150, 30

def calc(D):
return sqrt((2 * C * D) / H)

print(",".join([str(int(calc(int(i)))) for i in
input().split(",")1))
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This code is a simple program that takes a string of comma-separated values
as input, performs some calculations on each of the values, and then prints
the result as a string of comma-separated values.

The first line of code imports the sqrt() function from the math module,
which is used to calculate the square root of a number.

The next two lines define two constants, C and H, which are used in the
calculations.

The following function calc(D) takes a parameter D and returns the result of
the calculation sqrt((2 * C * D) / H)

The final line of code uses the input () function to get user input, which is
expected to be a string of comma-separated values. It then uses
the split() method to convert the input string into a list of strings by
splitting it at each comma.

It then creates a list comprehension that iterates over the list of input values,
calls the calc() function on each input value, which returns a float, and then
converts the float to an int using the int() function. Then it uses
the join() method to join the list of integers into a string of comma-
separated values and prints it out.
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Write a program which takes 2 digits, X, Y as input and generates a 2-
dimensional array. The element value in the i-th row and j-th column of the
array should be i_j.

UWW@QW\&;Q%MW@UWQW\UAM&L;,abj,,._,:fl
G 9 oy sl

Haletatl |
X, y = map(int, input().split(","))
Ist = [[1 * j for j in range(y)] for i in range(x)]
print(1lst)
:ChatGPT ¢ juw

This code is a simple program that takes two integers as input, separated by
a comma and creates a list of lists (also known as a 2D list) by using a nested
list comprehension.

The first line of code uses the input() function to get user input, which is
expected to be two integers separated by a comma. It then uses
the split() method to separate the input string at the comma and
the map () function to convert the resulting two strings into integers and
assigns them to the variables x, y.

The second line of code creates a list of lists called 1st using a nested list
comprehension. The outer list comprehension iterates over the range of x,
and the inner list comprehension iterates over the range of y, and it creates a
new list of integers where each integer is the product of the outer loop
variable and the inner loop variable.

The last line of code prints out the list of lists.

o RSB i Bl U gaie (WSS (e ey J5L ey sl 0 8500 5 ST L
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Write a program that accepts a comma separated sequence of words as input
and prints the words in a comma-separated sequence after sorting them
alphabetically.

U e Jorbod GOSN a5 oW baS sty U gaie LS o ks o Groals ST
o U 6 s Al

:2gAll
1st = input().split(",")
1st.sort()
print(",".join(1lst))
:ChatGPT e i

This code is a simple program that takes a string of comma-separated values
as input, sorts the values in alphabetical or numerical order, and then prints
the sorted values as a string of comma-separated values.

The first line of code uses the input() function to get user input, which is
expected to be a string of comma-separated values, and the split() method
to convert the input string into a list of strings by splitting it at each comma.
The second line of code sorts the list of strings using the sort() method. This
sorts the list in alphabetical order for strings and numerical order for numbers.
The final line of code uses the join() method to join the list of strings into a
string of comma-separated values, and then prints it out.
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Write a program that accepts sequence of lines as input and prints the lines
after making all characters in the sentence capitalized.

18 ezl G0 oY a1 sy oM aS Lo ks i Grals S
:2gAll

def user_input():
while True:
s = input()
if not s:
return
yield s

for line in map(str.upper, user_input()):
print(line)

:ChatGPT g i

This code defines a function user_input() that takes no arguments and
continuously prompts the user for input until they provide an empty string
(by just pressing enter). Each input string provided by the user is then passed
to the str.upper() method to convert the string to uppercase and then
passed to theprint() function to print it out. Themap() function
applies str.upper() method to each input string.

The while loop in the function user_input() uses the input() function to
continuously prompt the user for input and assigns the input string to the
variable s.

The if not s: line checks whether the input string is empty or not. If it is
empty, the return statement is executed, which terminates the function and
the loop stops. If the input string is not empty, it is passed to the yield
statement, which returns the input string to the calling code and continues to
execute the next iteration of the loop.

The for loop uses the user_input() function to get user input and
the map () function to call the str.upper() method on each input string to
convert it to uppercase and the print() function to print it out.
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Write a program that accepts a sequence of whitespace separated words as
input and prints the words after removing all duplicate words and sorting
them alphanumerically.

03] iy SIS ka5 3 oLy ey 8 eial) oS o Bk o sl ST
.L;«.;) SMTLA)J.SJBJJQJ\QW‘@Q}

Haletatl |
word = sorted(
list(set(input().split()))
)
print(" ".join(word))
:ChatGPT g i

This code is a simple program that takes a string of words as input, sorts them
in alphabetical order and removes any duplicates, and then prints out the
unique and sorted words as a string.

The first line of code uses the input() function to get user input, which is
expected to be a string of words, and the split() method to convert the
input string into a list of words by splitting it at each space.

Then it converts the list of words into a set with the set() method, which
removes any duplicates. Then the set is converted back to a list
with 1ist () method.

The second line sorts the list of words using the sorted() method. This sorts
the list in alphabetical order.

The final line of code uses the join() method to join the list of words into a
string of words separated by space, and then prints it out.
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Write a program which accepts a sequence of comma separated 4 digit binary
numbers as its input and then check whether they are divisible by 5 or not.
The numbers that are divisible by 5 are to be printed in a comma separated
sequence.

G35 05 (oM kaS Aol U guain o1 4 o B S ASL 21V yn Al iy Goals ST
Iain Joubos Blgmeld o 5 e Do) Sy 2B,V 615 e Lol 26 313 Lo
RAWIES

:2gAll

data = input().split(",")
data = list(
filter(lambda i: int(i, 2) % 5 == @, data)
) # lambda is an operator that helps to write function of one line
print(",".join(data))
:ChatGPT ¢ juw

This code takes a string of comma-separated binary numbers as input, filters
out the numbers that are not divisible by 5 when converted to decimal, and
then prints the remaining numbers as a comma-separated string.

The first line of code uses the input() function to get user input, which is
expected to be a string of comma-separated binary numbers. It then uses
the split() method to convert the input string into a list of binary numbers
by splitting it at each comma.

The next line of code uses the filter() function to filter out the binary
numbers that are not divisible by 5 when converted to
decimal. filter() function applies the lambda function to each element in
the list, the lambda function takes one argument i, converts it to decimal
using int(i, 2) and check whether it's divisible by 5 or not, if it's true it
keeps the element otherwise it filters out the element.

Finally, the join() method is used to join the filtered list of binary numbers
into a string of comma-separated binary numbers and then the string is
printed out.
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Write a program, which will find all such numbers between 1000 and 3000

(both included) such that each digit of the number is an even number.The

numbers obtained should be printed in a comma-separated sequence on a
single line.

e 055 JS 055 S (rande LadiS) 3000 5 1000 G 2B,V sdn ISt Gesls 2 ST

S o il Jgate Jodod Glede Jpandl o3 1B,V dell Coms (Lo 1B o3 )

.v\>\j
:2gAll
1st = [str(i) for i in range(1000, 3001)]
Ist = list(
filter(lambda i: all(ord(j) % 2 == @ for j in i), 1lst)
) # using lambda to define function inside filter function
print(",".join(1lst))
:ChatGPT ¢ juw

This code generates a list of numbers between 1000 and 3000 and filters out
the numbers that have any odd-numbered digits in them.

The first line of code uses a list comprehension to generate a list of numbers
between 1000 and 3000 and converts them to strings.

The next line of code uses the filter() function to filter out the numbers
that have any odd-numbered digits in them. filter() function applies the
lambda function to each element in the list, the lambda function takes one
argument i, and for each digit j in i, it checks whether the ASCII value of j is
even using the ord() function and the modulus operator % . If all digits are
even, the lambda function returns True, and the number is kept in the list,
otherwise it filters out the number.

Finally, the join() method is used to join the filtered list of numbers into a
string of comma-separated numbers and then the string is printed out.

A )T ol e g 1 eV as 3000 5 1000 (e 6, A5G 5801 i ¢y
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Write a program that accepts a sentence and calculate the number of letters
and digits.

6531 GVl sde ely Blo Ly Gl ST

:2gAll

word = input()
letter, digit = 0, ©

for i in word:
if i.isalpha(): # returns True if alphabet
letter += 1
elif i.isnumeric(): # returns True if numeric
digit += 1
print(
f"LETTERS {letter}\n{digits}"
) # two different types of formating method is shown in both
solution

:ChatGPT ¢ juw

This code takes an input string, and then it iterates over each character in the
string.

For each character, it checks if the character is an alphabet using
the isalpha() method. If it is an alphabet, the variable letter is incremented
by 1.

Then, it checks if the character is a digit using the isnumeric() method. If it
is a digit, the variable digit is incremented by 1.

Finally, it prints the count of letters and digits in the input string. f"LETTERS
{letter}\n{digits}" is used to format the output string where letter and
digit are the variables that contain the count of letters and digits respectively
in the input word.
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Write a program that accepts a sentence and calculate the number of upper-
case letters and lower-case letters.

8 preally 5 oSl G Y sde oy e Jois Gesls ST

:2gAll
string = input("Enter the sentense")
upper = 0
lower = 0
for x in string:
if x.isupper() == True:
upper += 1
if x.islower() == True:
lower += 1
print("UPPER CASE: ", upper)
print("LOWER CASE: ", lower)
:ChatGPT ¢ juw

This code takes an input string, and then it iterates over each character in the
string.

For each character, it checks if the character is uppercase using
the isupper() method. If it is uppercase, the variable upper is incremented
by 1.

Then, it checks if the character is lowercase using the islower () method. If
it is lowercase, the variable lower is incremented by 1.

Finally, it prints the count of uppercase and lowercase characters in the input
string.
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Write a program that computes the value of a+aa+aaa+aaaa with a given

digit as the value of a.
AdedS Jans (3, a + 33 + 233 + 2338 ded iy Brsl ST

:2gAll
a = input()
total, tmp = @, str() # initialing an integer and empty string
for i in range(4):
tmp += a # concatenating 'a' to 'tmp'
total += int(tmp) # converting string type to integer type
print(total)
:ChatGPT g i

This code takes an input, and then assigns it to a variable a.

It then initializes two variables, total and tmp, with the values of 0 and empty
string respectively.

The code then uses a for loop that iterates 4 times. In each iteration, it
concatenates the variable a to the variable tmp and then converts it to an
integer and adds it to the variable total.

At the end, it prints the total.
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Use a list comprehension to square each odd number in a list. The list is input

by a sequence of comma-separated numbers. >Suppose the following input
is supplied to the program.

o IO e RSN JUo] o2 daSll 360, o35 JS 0 ) List Comprehension pdsl

b0 B Ol 8 5 05 &l 2 51 < ol gl U paaiodl o551 oy

:2gAll

1st = [str(int(i) ** 2) for i in input().split(",") if int(i) % 2]
print(",".join(1lst))
:ChatGPT g i

This code takes an input, which is expected to be a comma-separated list of
numbers, converts it into a list of strings, then it applies a list comprehension
onit.

The list comprehension iterates over each element of the input list, checks if
it is odd by checking if the integer representation of the element modulo 2 is
non-zero. If it is odd, it takes the square of the element and converts it back
to a string before appending it to the new list.

At the end, it uses the join method to join the elements of the new list with
commas and prints it.
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Write a program that computes the net amount of a bank account based a

transaction log from console input. The transaction log format is shown as
following:

s> Jl:-él e Molaodl JM Jl (3Ll ij.” ULMDLU JL.G-H CL«.” ] L;;»:L’J; d\

L S podl e SDalaodl Jres e ey oSl

D 100
W 200

D means deposit while W means withdrawal.

el g8 Wiles plaY) 25 D

Haletatl |
lines = []
while True:
loopInput = input()
if loopInput == "done":
break
else:
lines.append(loopInput)
1st = list(int(i[2:]) if i[@] == "D" else -int(i[2:]) for i in
lines)
print(sum(1lst))
:ChatGPT ¢ juw

This code snippet first creates an empty list called 1ines.

It then enters a while loop that continues until the user inputs "done". For
each iteration of the loop, the script takes in user input and checks if it
is "done". If it is not, it appends the input to the 1ines list.

Once the loop breaks, the script creates a new list called 1st using list
comprehension. It iterates through each element of 1ines and checks if the
first character of the element is "D". If it is, it adds the element as is to the
new list, otherwise it adds the element as a negative number.

Finally, the script calculates the sum of the elements in the 1st list and prints
it.
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A website requires the users to input username and password to register.

Write a program to check the validity of password input by users. Following
are the criteria for checking the password:

o At least 1 letter between [a-Z]

e At least 1 number between [0-9]

o Atleast 1 letter between [A-Z]

e Atleast 1 character from [$#@]

e Minimum length of transaction password: 6
e Maximum length of transaction password: 12

Your program should accept a sequence of comma separated passwords and
will check them according to the above criteria. Passwords that match the
criteria are to be printed, each separated by a comma:

Dol oIS g Gl e s Lo cppadtieinall 3 (o 53 0l 2l JUs] e 0 Gl
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def is_low(x): # Returns True if the string has a lowercase
for i in x:
if "a" <=1 and i <= "z":
return True
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return False

def is_up(x): # Returns True if the string has a uppercase
for 1 in x:
if "A" <=1 and i <= "Z":
return True
return False

def is_num(x): # Returns True if the string has a numeric digit
for i in x:
if "@" <=1 and i <= "9":
return True
return False

def is_other(x): # Returns True if the string has any "$#@"
for i in x:
i_F i == ll$ll Or i == ll#ll Or‘ i == ll@ll:
return True
return False

s = input().split(",")
1st = []

for i in s:
length = len(i)
if (
6 <= length
and length <= 12
and is_low(i)
and is_up(i)
and is_num(i)
and is_other(i)
): # Checks if all the requirments are fulfilled
1st.append(i)
print(",".join(1lst))
:ChatGPT ¢ i

This script takes input of a string of comma-separated values, and checks each
value against certain conditions. The conditions are:

1. The length of the string is between 6 and 12 characters
2. The string contains at least one lowercase letter

3. The string contains at least one uppercase letter

4. The string contains at least one numeric digit
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5. The string contains at least one of the special characters "$#@".

The script uses 4 separate functions (is_low, is_up, is_num, is_other) to
check if each string meets each of these requirements.

If a value meets all these conditions, it is added to a list. Finally, the script
prints all the values in the list, joined by commas.

The function is_low(x) checks if the input string x has any lowercase letters
by iterating through each character in the string and checking if it falls within
the range of lowercase letters. It returns True if at least one lowercase letter
is found, and False otherwise.

The function is_up(x) returns True if the input string x contains at least one
uppercase letter, and False otherwise. It iterates through each character in
the input string, and checks if it is within the range of uppercase letters using
the comparison operator <=. If it finds an uppercase letter, it immediately
returns True. If it reaches the end of the input string without finding an
uppercase letter, it returns False.

The function is_num(x) takes in a single argument x which is a string. The
function then uses a for loop to iterate through each character in the string x.
Within the for loop, there is an if statement that checks if the current
character being iterated through is a numeric digit (i.e. between 0 and 9). If
the current character is a numeric digit, the function immediately
returns True. If the for loop completes without finding a numeric digit, the
function returns False at the end. In other words, this function checks if the
input string contains any numeric digits, and returns True if it does
and False if it does not.

The function is_other(x) takes in a single input, x. The function then
iterates through each character in the input x using a for loop. Inside the loop,
the function checks if the current character is equal to any of the special
characters $, #, or @. If any of these characters are present in the input, the
function immediately returns True. If the loop completes without finding any
of these characters, the function returns False indicating that none of the
special characters were found in the input.
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You are required to write a program to sort the (name, age, score) tuples by

ascending order where name is string, age and score are numbers. The tuples
are input by console. The sort criteria is:

1. Sort based on name
2. Then sort based on age

3. Then sort by score

V1 0550 o (s las s (amtdls ol s 1) Sl oo a0l 2SS e
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Ist = []
while True:
s = input().split(",")
if not s[@]: # breaks for blank input
break
1st.append(tuple(s))
1st.sort(
key=lambda x: (x[@], x[1], x[2])
) # here key is defined by lambda and the data is sorted by
element priority ©>1>2 in accending order
print(1lst)
:ChatGPT g juu

This code snippet is a Python program that prompts the user for input of
strings separated by commas.

It creates an empty list called 1st and enters awhile loop. Within
the while loop, it takes user input, splits it into a list of strings by the commas,
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and assigns it to the variable s. If the first element of s is blank, the loop
breaks. Otherwise, it appends a tuple of the elements of s to 1st.

After the loop, the program sorts 1st by the first, second, and third elements
of each tuple, and then prints 1st.
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Define a class with a generator which can iterate the numbers, which are
divisible by 7, between a given range 0 and n.

~n;0;ﬁ~éuasw7392.%&1@&)\&)%‘)\;;44”J_;ﬁgﬁdﬁ

:2gAll
class MyGen:
def by _seven(self, n):
for i in range(@, int(n / 7) + 1):
yield i * 7
for i in MyGen().by seven(int(input("Please enter a number... "))):
print(i)
:ChatGPT g i

This code defines a class called MyGen that has a method called by_seven.
The method takes in a number n as an argument and uses a for loop to
iterate over a range of numbers that are multiples of 7 and less than or equal
to n. The method uses the yield keyword to return each multiple of 7 one at
a time as the for loop iterates through the range.

After the class is defined, the code prompts the user to enter a number, and
then it creates an instance of the MyGen class and calls the by _seven method
with the user-provided number as an argument. The code then uses
a for loop to print out each number generated by the by_seven method one
at a time.

oS0 30 a1 lall J5b by _seven ews 8,k L) MyGen ows & 3,01 K G
Nl o e BBl 7 wlislas o5 ruj\.u oo Ol e IS for Gl pases s
Bl 5 S5 S 30 IS Gy 7 3 Cieliae JS g Y yield dnlo1 2SN d ol e
Bl e for

s MyGen 243 L2e Ll po o3 ey JBmsly plsendl 5800 Uy (Bl o oy
Gl for dil> G5 day 5 Sl pudeiny Ao S pdiiall o b 5 U1 03 )1 oo DY_seven iz, b
A 5k oty by_seven & b dlaul s o305 o5 08, JS



ChatGPT polaiwl ol rolci

21 ool
:Joll
A robot moves in a plane starting from the original point (0,0). The robot can

move toward UP, DOWN, LEFT and RIGHT with a given steps. The trace of
robot movement is shown as the following:

e UPS5

e DOWN 3
o LEFT3

e RIGHT 2

The numbers after the direction are steps. Please write a program to compute
the distance from current position after a sequence of movement and original
point. If the distance is a float, then just print the nearest integer. Example: If
the following tuples are given as input to the program:
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import math

X, y =20, 0
while True:
s = input().split()
if not s:
break
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if s[@] == "UP": # s[@] indicates command
X -= int(s[1]) # s[1] indicates unit of move
if s[@] == "DOWN":
X += int(s[1])
if s[@] == "LEFT":
y -= int(s[1])
if s[@] == "RIGHT":

y += int(s[1])

# N**P means N"P
dist = round(

math.sgrt(x ** 2 + y ** 2)
) # euclidean distance = square root of (x”*2+y”~2) and rounding it
to nearest integer
print(dist)
:ChatGPT g i

This code snippet is a Python program that calculates the distance from the
origin (0, 0) to a point on the x-y plane.

The program takes input as a series of commands (UP, DOWN, LEFT,
RIGHT) and an integer value indicating the number of units to move in that
direction. The input is repeatedly taken in a while loop until a blank input is
given.

The program keeps track of the x and y coordinates as the input commands
are executed and then calculates the distance from the origin to the final point
using the Pythagorean theorem (the square root of x*2 + y~2). The
calculated distance is rounded off and then printed.
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Write a program to compute the frequency of the words from the input. The
output should output after sorting the key alphanumerically:

bl
:2gAll
from pprint import pprint
p = input().split()
pprint({i: p.count(i) for i in p})
:ChatGPT g i

This code snippet in Python is used for counting the occurrences of each
element in a given list and printing the results in a dictionary format.

The input is taken as a string of elements separated by a space, which is then
split into a list of elements using the split method. The pprint module is
imported to format the output as a dictionary. A dictionary comprehension is
used to iterate over the list of elements and count the occurrences of each
element. The resulting dictionary is then printed using the pprint function.
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Write a method which can calculate square value of number:
adkald Ln 2 o2l Ol LSy 4,1 S

:2gAll

n = int(input())
print(n ** 2)

:ChatGPT ¢ juw

This code snippet prompts the user to input an integer, and then raises that
integer to the power of 2 (n~2) and prints the result. For example, if the user
inputs the number 5, the program would calculate 572 and print 25.
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Please write a program to print some Python built-in functions documents,

such asabs(), int(), raw_input(). And add document for your own
function:

«Ant()  cabs() Jas sl Ghesadl dl olboes Gas dell) sl LUS 2

ol Sl dis s lsls .raw_input()

:2gAll
def pow(n, p):
param n: This is any integer number
param p: This is power over n
return: n to the power p = n”p
return n ** p
print(pow(3, 4))
print(pow.__doc_ )
:ChatGPT ¢ juw

This is a Python function definition for a function called pow that takes in two
parameters, n and p.

The function calculates and returns the result of raising the value of n to the
power ofp(n to the power ofp = n”p). The function also has
a docstring that describes the purpose and parameters of the function.
The last two lines of the code snippet are calling the pow function with the
values 3 and 4 as arguments, which will return 374 = 81 and also prints
the docstring of the function.
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Define a class, which have a class parameter and have a same instance
parameter:

Dol Jolne i Lls &3 Gakns g (5 o o

:2gAll

class Car:
name = "Car"
def __init__ (self, name=None):
self.name = name

honda = Car("Honda")
print(f"{Car.name} name is {honda.name}")

toyota = Car()
toyota.name = "Toyota"
print(f"{Car.name} name is {toyota.name}")

:ChatGPT ¢ juw

This code defines a class called Car with a class variable name which is set to
"Car" by default. When creating a new object of the Car class, you can pass in
a custom name as an argument, otherwise it will use the default "Car" value.
The first instance of the class is created and assigned to the variable honda.
The class variable name is overridden with the value "Honda" that was passed
in during the object's creation. Then a message is printed, displaying the class
variable's value of "Car" and the object variable's value of "Honda".

The second instance of the class is created and assigned to the
variable toyota. In this case, the name of the object is not passed during the
object creation, so the default value of "Car" is used. Later, the object
variable's value is overridden with "Toyota" and a message is printed,
displaying the class variable's value of "Car" and the object variable's value of
“Toyota".
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Define a function which can compute the sum of two numbers:
Fped) e Sl LeSap Als e
:2gAll

sum = lambda nl, n2: nl + n2 # here lambda is use to define little
function as sum
print(sum(1, 2))

:ChatGPT g i

This code creates an anonymous function called sum that takes in two
parameters, n1 and n2, and returns their sum. The function is then
immediately called with the arguments 1 and 2, and the result of that function

call (3) is printed.
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Define a function that can convert a integer into a string and print it in
console:

oSl 3y Bl s fnad s J] s 3 o520 Loy Al G50

:2gAll
conv = lambda x: str(x)
n = conv(10)
print(n)
print(type(n)) # checks the type of the variable
:ChatGPT ¢ juw

This code defines a lambda function named conv, which takes in a single
argument x and returns the string representation of that argument.

It then assigns the value of the function applied to the integer 10 to a
variable n. It then prints out the value ofnand it's data type using

the print and type function respectively. It will output:
10
<class 'str'>

o) Aol i3 dnd s X 3l 5 ddaan s 15 s cconv slewsl lambda dls 55531l By
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Define a function that can receive two integer numbers in string form and
compute their sum and then print it in console:

:vg"ﬂ‘s-"")gé‘:“trbr:WM?WJM‘JQQWM})&WQBJJ’
:2gAll

sum = lambda s1, s2: int(sl) + int(s2)
print(sum("10", "45")) # 55
:ChatGPT g i

This code defines a lambda function called sum, which takes in two
parameters s1 and s2 and converts them from strings to integers using
the int () function.

Then it performs the sum of the integers and returns the result. Then, the code
calls the sum function with the arguments "10" and "45" and prints the result,
which is 55.

i Jodhs oo Lag 255 $2 5 51 el I35 15 csUM o3 lambda @15 5,831 s Gmy
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Define a function that can accept two strings as input and concatenate them
and then print it in console:

:Mls»jgngb&u@”owwwdﬁL@,‘&&fﬁ\sdfo
:2gAll

sum = lambda s1, s2: sl + s2
print(sum("10", "45")) # 1045
:ChatGPT g i

This code defines a lambda function named sum that takes in two
arguments, s1 and s2, and returns their concatenation as a string. Then it calls
this lambda function with the arguments "10" and "45" and prints the result,
which is "1045".
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Define a function that can accept two strings as input and print the string with
maximum length in console. If two strings have the same length, then the
function should print all strings line by line:

Nen 313 oSl 8y 3 s ol Al Bl 5 DS ks J 58 Lo W5 G 5
s o Sl S 3oLl DI e o o)l i Leg) ol

Haletatl |
func = (
lambda a, b: print(max((a, b), key=len))
if len(a) != len(b)
else print(a + "\n" + b)
)
:ChatGPT g i

This code defines a lambda function func that takes in two
arguments a and b.

The function then checks if the lengths of a and b are not equal. If they are
not, it prints the argument with the larger length using the max function and
the len key. If the lengths are equal, it prints both a and b on separate lines
using string concatenation. Note that this function definition doesn't execute
it.

You would need to call the function by passing two parameters.
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Define a function which can print a dictionary where the keys are numbers
between 1 and 20 (both included) and the values are square of keys:

Gag o ey ((ponan LoadIS) 20 5 1 oy Gl peslicall 055 o o gold oL LgiSa W5 G50

:c:SquJ‘ o
Haletatl |
def printDict():
dict = {i: i ** 2 for i in range(1, 21)}
print(dict)
printDict()
:ChatGPT g i

This code defines a function printDict(). When called, the function creates
a dictionary, dict, with keys being numbers from 1 to 20, and values being
the square of the corresponding key. It then prints the dictionary to the

console.
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Define a function which can generate a dictionary where the keys are numbers

between 1 and 20 (both included) and the values are square of keys. The
function should just print the keys only:

Bag o ool (e LeadS) 20 5 1 o BlBT esliall 0555 Goom a6 oL23] LSy B> 50

1t esliedl deblay Jais DIl p o5 O oy iSlaodl o

Haletatl |
def printDict():
dict = {i: i ** 2 for i in range(1, 21)}
print(dict.keys()) # print keys of a dictionary
printDict()
:ChatGPT g i

This code defines a function called printdict(). Inside the function, it
creates a dictionary called dict with keys being integers from 1 to 20,
and values being the square of the corresponding key.

Then it calls the keys() method on the dict object, which returns a view
object of all the keys in the dictionary, and prints it. When the function
is called, it will print all the keys in the dictionary (1, 2, 3, 4, ..., 20) without
values.
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Define a function which can generate and print a list where the values are
square of numbers between 1 and 20 (both included):

H(Gaan LaadS) 20 5 1 oy pB5 Y1 po iy o 0ol 0555 oo a3 Al s o] Loy Dls G0

:2gAll
def printList():
Ist = [1i ** 2 for 1 in range(1, 21)]
print(lst)
printList()
:ChatGPT ¢ juw

This code defines a function called printList() that creates a list of the
squares of the numbers from 1 to 20 (inclusive). It then prints the list to the
console.

When the function is called (by the last line printList()), it will execute the
instructions inside it and print the list of the squares of the numbers from 1
to 20 to the console.

(Ca2) 20 11 oo 213 ol o 256 ¢ 225 1 printList () cows s 5,501 Hia Oy
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Define a function which can generate a list where the values are square of

numbers between 1 and 20 (both included). Then the function needs to print
the first 5 elements in the list:

T2 o5 (e LeadS) 20 5 1 e oL, o ol 0585 S L35 oLt LgSla Uls 50
Al BV dnedd) oliall dsll ) D10

Haletatl |

func = lambda: ([i ** 2 for i in range(1, 21)][:5])
print(*(func()), sep="\n")
:ChatGPT g i

This code defines a lambda function func that returns a list of the first 5
squares of the integers from 1 to 20.

The lambda function is immediately called and the result is unpacked and
passed as separate arguments to the print function, which then separates
the items in the list with newlines and prints them. The output will be a list of
the first five square of numbers 1 to 20.
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Define a function which can generate a list where the values are square of

numbers between 1 and 20 (both included). Then the function needs to print
the last 5 elements in the list:

T2 o5 (e LeadS) 20 5 1 e oL, o ol 0585 S L35 oLt LgSla Uls 50

RSl ol 5 54T deld ) Dl

Haletatl |
def printList():
Ist = [1i ** 2 for 1 in range(1, 21)]
for i in range(19, 14, -1):
print(lst[i])
printList()
:ChatGPT g i

This function creates a list of the squares of the numbers from 1 to 20 using
a list comprehension. Then, it uses a for loop to iterate through the list in
reverse order, starting from the 19th index and going to the 14th index (with
a step of -1, to count backwards). For each iteration, the function prints the
value of the corresponding element in the list. So it will print the squares of
the numbers 15 to 20 in descending order.
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Define a function which can generate a list where the values are square of

numbers between 1 and 20 (both included). Then the function needs to print
all values except the first 5 elements in the list:

TS o5 (Gronan LeadS) 20 5 1 e pL,5 o ol 0085 S L35 oLt LgSlay Uls 50

3l G SV dmasdl ol sty ool aoo Zell J) B

Haletatl |
def printList():
Ist = [1i ** 2 for 1 in range(1, 21)]
for i in range(5, 20):
print(lst[i])
printList()
:ChatGPT g i

This code defines a function called printList(). Inside the function, it
creates a list called 1st that contains the squares of the numbers from 1 to
20. Then it uses a for loop to iterate through a range of numbers from 5 to
20 (not including 20), and for each iteration, it prints the element of
the 1st list at that index.

So it will print the elements of the list that are at index 5, 6, 7, 8, 9, 10, 11, 12,
13, 14,15, 16, 17, 18, and 19. Essentially, it is printing the last 15 elements of
the list.
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Define a function which can generate and print a tuple where the value are
square of numbers between 1 and 20 (both included):

H(oroan LeadS) 20 5 1 o p,M dmy 1o Ll 0555 S stelb sy i el LgSla As 5 0

:2gAll
def square_of numbers():
return tuple(i ** 2 for i in range(1, 21))
print(square_of_numbers())
:ChatGPT ¢ juw

This code defines a function square_of_numbers() that creates and returns a
tuple containing the squares of numbers from 1 to 20 (inclusive).

The function uses a generator expression to create the tuple, which is more
memory efficient than creating a list and then converting it to a tuple. The
function doesn't take any parameters. When the function is called and the tuple

is returned, it is then printed to the console.
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With a given tuple (1,2,3,4,5,6,7,8,9,10), write a program to print the first half
values in one line and the last half values in one line:

J}b%éﬁﬂ%\w‘(ﬁj}bb

Haletatl |
tup = (1, 2, 3, 4, 5, 6, 7, 8, 9, 10)
1t = int(len(tup) / 2)
print(tup[:1t], tup[lt:])
:ChatGPT ¢ juw

The code creates a tuple tup containing the numbers 1 to 10. Then it creates
a variable 1t that is the integer division of the length of the tuple by 2.
Finally, it prints out the first half of the tuple by slicing it from the start to the
index of 1t and the second half of the tuple by slicing it from the index of It
to the end.

The final output would be (1, 2, 3, 4, 5) (6, 7, 8, 9, 10).
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Write a program to generate and print another tuple whose values are even
numbers in the given tuple (1,2,3,4,5,6,7,8,9,10):

Ciall  dhesy GBI aed 055 A e Belby e Gul, S
2(1c2c3n4c5n6c74849c10)@\

Haletatl |
tpl = (1, 2, 3, 4, 5, 6, 7, 8, 9, 10)
tpll = tuple(i for i in tpl if i % 2 == 0)
print(tpll)
:ChatGPT ¢ juw

This code creates a tuple called tpl that contains the integers 1 through 10.
It then creates a new tuple called tpl1 that contains only the even numbers
from tpl using a list comprehension.

It iterates over each element in tpl and checks if it is divisible by 2 using the
modulo operator. If it is, it adds it to the new tuple tpl1.

Finally, it prints out the new tuple tp11, which should contain the numbers 2,
4, 6,8, and 10.
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Write a program which accepts a string as input to print "Yes" if the string is
"yes" or "YES" or "Yes", otherwise print "No":

MYes" 51 "YES" 1 "yes" il cols13] "Yes" dslda) o deS dludes i Gesl p iST)
"NO" bl VI

Haletatl |
input = input("Enter string:")
output = "".join(
["Yes" if input == "yes" or input == "YES" or input == "Yes"

else "No"]
)
print(str(output))

:ChatGPT g i

This code snippet prompts the user to enter a string and then assigns the
input to a variable called input.

It then uses a join method to join a list of strings together. The list is created
using a list comprehension that checks if the input is equal to "yes", "YES", or
"Yes", if it is it returns "Yes" otherwise it returns "No".

The final result is then stored in the output variable and printed as a string.
The output will be "Yes" if the user entered "yes", "YES", or "Yes" and "No" for
any other input.
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Write a program which can map() to make a list whose elements are square
of elements in [1,2,3,4,5,6,7,8,9,10]:

Groball e A bpole 0S5 ASB e map() aSe Buly oS
1[1‘2¢3c4c5c6c748‘9‘10]

:2gAll
1i = [1, 2, 3, 4, 5, 6, 7, 8, 9, 10]
squaredNumbers = map(lambda x: x ** 2, 1i) # returns map type
object data
print(list(squaredNumbers)) # converting the object into list
:ChatGPT g i

The code above wuses themap() function to apply the lambda
function lambda x: x ** 2 to each element in the list 1i.

The lambda function takes one argument x and returns the square of x.
The map () function returns a map object, which is an iterator over the results
of applying the lambda function to each element in the list.
The 1ist () function is then used to convert the map object into a list, so that
the squared numbers can be printed using the print() function.

The output will be the list of squared numbers of the elements in the original
list.
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Write a program which can map() and filter() to make a list whose elements
are square of even number in [1,2,3,4,5,6,7,8,9,10].

Gurss >0 dape bovle 055 LB Jodd filter()s map() e Guly, oS

:[1‘2‘3‘4‘5‘6&7L8L9L10]

Haletatl |

def even(x):
return x % 2 ==

def squer(x):
return x * x

1i
1i

[1, 2, 3, 4, 5, 6, 7, 8, 9, 10]

map (
squer, filter(even, 1i)
) # first filters number by even number and the apply map() on the
resultant elements
print(list(1li))

:ChatGPT ¢ juw

The code defines two functions: even(x) and square(x). The even function
takes a single argument x and returns True if x is even and False otherwise.
The square function takes a single argument x and returns x squared.

Then it creates a list of numbers called li. It then uses the map() function to
apply the square function to each element in the list. But before applying the
square function, it applies the filter function to the list, which filters out all
the elements that are not even.

So the final output will be the square of even numbers of the list.
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Write a program which can filter() to make a list whose elements are even
number between 1 and 20 (both included).

H -2 LadMs) 20 5 1 g:"a:‘"j)rﬂh-“ydjgﬁ L5 Lasy fllter()&mﬁ L;.ALSJ..: iy

Haletatl |
def even(x):
return x % 2 ==
evenNumbers = filter(even, range(1, 21))
print(list(evenNumbers))
:ChatGPT ¢ juw

The code defines a function called even(x) that takes in a parameter x and
returns True if x is even, and False if x is odd.

Then, it uses the filter() function to filter out all the even numbers in the
range of 1 to 21 and assigns the resulting filter object to the
variable evenNumbers.

Finally, it converts the filter object into a list and prints it. So the output will
be a list of all even numbers between 1 and 21.

False s sy X SIS I3] True a5 X dokaall isb even(x) Lows dls 351 Gpa
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Write a program which can map() to make a list whose elements are square
of numbers between 1 and 20 (both included).

LadlS) 20 5 1 o pBsY1 o gy Lol 0555 236 +L23Y MaP() 4y Grsliy oS

w

HEGYSv-N
Haletatl |
def sqr(x):
return x * x
squaredNumbers = list(map(sqr, range(1, 21)))
print(squaredNumbers)
:ChatGPT g i

In this code snippet, we are defining a function sqr that takes in a single
argument x and returns the square of x by multiplying x with itself.

Next, we use the map function to apply the sqr function to every element in
the range 1 to 21 (exclusive). This creates a map object, which is a lazy
evaluation of the function applied to each element in the range.

To obtain the list of the squared numbers, we use the 1list function to
convert the map object into a list and store it in the variable squaredNumbers.
Finally, we print the squaredNumbers list to see the output, which is the list
of squares of numbers from 1 to 20.
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Define a class named American which has a static method called
printNationality.

:.printNationality _ses &b i%,b L American s &3 O3 ¢

:2gAll

class American:
@staticmethod
def printNationality():
print("I am American")

american = American()
american.printNationality()
American.printNationality()

:ChatGPT g i

The code defines a class American in Python. The class has a static method
called printNationality(). This method simply prints the string "I am
American".

A object american is created from the American class. The object american
invokes the printNationality() method using the object
instance american.printNationality().

The class American directly invokes the static
method printNationality() by calling American.printNationality().
Both of these method invocations produce the same output "l am American”.

s BB b e B gew 0L S American &l sSU G
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Define a class named American and its subclass NewYorker.
:NewYorker Ls 2l g2y American  od &3 G

:2gAll

class American:
pass

class NewYorker(American):
pass

american = American()
newyorker = NewYorker()

print(american)
print(newyorker)
:ChatGPT g i

The code defines two classes American and NewYorker in Python.
The American class is an empty class which doesn't have any attributes or
methods. The NewYorker class is a subclass of American class.

In the code, two objects american and newyorker are created. The first
object americanis an instance of the American class, while the second
object newyorker is an instance of the NewYorker class.

When the print statement is executed, the object american returns the
memory location of the american object. The object newyorker returns the
memory location of the newyorker object.

The output will be:

<__main__.American object at ox...>
<__main__.NewYorker object at ox...>

L o 28,1 & » American &4l .02k NewYorker s American ;b 80l G
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Define a class named Circle which can be constructed by a radius. The Circle
class has a method which can compute the area.

i b 4 Circle 41 .radius jhs ozl dauly slid| Soo Iy Circle o & G ,e
bl Ol LeSa

:2gAll

class Circle:
def __init_ (self, r):
self.radius = r

def area(self):
return 3.1416 * (self.radius ** 2)

circle = Circle(5)
print(circle.area())
:ChatGPT g 1

The code defines a class Circle with a constructor __init__ method that
takes a radius r as input and sets it as an instance variable radius of the
object. The class also has a method area which calculates and returns the
area of the circle using the formula 3.1416 * (self.radius ** 2).
Finally, an object circle of class Circle is created with radius 5 and its area
is calculated by calling circle.area(). The result of the area calculation is
then printed.

3R dle Oloo 005 area i,k o Lol 24l gpon U radius sace J2eS
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Define a class named Rectangle which can be constructed by a length and
width. The Rectangle class has a method which can compute the area.

b Ll Jlerall & (2 ,alls Jslall Aol sy LasLis] Sy s Rectangle od &5 O e
o la)l Ol LeSay

Haletatl |
class Rectangle:
def __init_ (self, 1, w):
self.length =1
self.width = w
def area(self):
return self.length * self.width
rect = Rectangle(2, 4)
print(rect.area())
:ChatGPT g i

This code defines a class Rectangle in Python. The class has a constructor
method __init__ which initializes two instance
variables 1ength and width with the values passed as parameters when
a Rectangle object is created. The class also has a method area which
calculates and returns the area of the rectangle by multiplying
the length and width of the object.

Finally, the code creates an instance of the Rectangle class and assigns it to
the variable rect. The area of the rectangle is then printed by calling
the area method on the rect object. The output of the code will be 8.

e Al Init e i b e Bl grew 0L JRectangle & oSOl e O
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Define a class named Shape and its subclass Square. The Square class has an
init function which takes a length as argument. Both classes have a area
function which can print the area of the shape where Shape's area is 0 by
default.

4’*‘-‘)5(9)19 b & it dls ) Square & .Square l is 2l &l Shape ows &b e
Bl S 0SSl il 055 S JSA1 Blws Aol Loy area Uls Log) o2l S
Haletatl |

class Shape:
def __init__ (self):
pass

def area(self):
return 0

class Square(Shape):
def __init__ (self, length=0):
Shape. _init__ (self)
self.length = length

def area(self):
return self.length * self.length

Asqr = Square(5)
print(Asqr.area())

print(Square().area())
:ChatGPT ¢ i

The code defines a class Shape that has an __init__ method which takes no
arguments, and an area method that returns @.

It also defines a class Square that inherits from the Shape class.
The Square class has an__init__ method that takes an optional
argument length and initializes the length attribute of the object.
The Square class also overrides the area method of the Shape class to return
the area of a square, which is calculated as the square of its length.
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The code then creates an object Asqr of the Square class with the length 5
and prints its area by calling the area method on the object. The code also
creates another object of the Square class with no arguments and prints its
area, which is 0 because the length was not specified.
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.0

__dinit_ i b e Square & gy Shape & e &5 i Square b saes gl LS
Gl 82 b Lol o podl 385 55loes . 5 Tength dew t gy Uolesl Tength das 56
b oS Ll o Al ol Bl gl Y IS8 2

el Gk e wolis adas 5 sk Square &3 e Asqgr IS Ll G5 a5 S0 p 5
el podayg Sl 05k SqUAre & oo 1 B Lal 5 31 2y 501 e area di b
odpdosd o3y o Il 0V 0 as



83 | ChatGPT polaaiwl ool rolci

50 ¢ pol

:Joll
Please raise a RuntimeError exception.
RuntimeError stz ol >

:2gAll

raise RuntimeError("something wrong")
:ChatGPT ¢ juw

The code raises a RuntimeError exception with the message "something
wrong". When this exception is raised, the program execution stops and an
error message is displayed.

sl s 5¢b Le "something wrong” ULl & RuntimeError stial 5 Sl Goley
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Write a function to compute 5/0 and use try/except to catch the exceptions.
ol Bty try/except pdsewls 0/5 Cluod dls oS

Halelatl |

def divide():
return 5 / ©

try:
divide()
except ZeroDivisionError as ze:

print("Why on earth you are dividing a number by ZERO!!")
except:

print("Any other exception")

:ChatGPT g i

The code block implements a simple try-except block to handle exceptions
raised during the execution of the divide function.

The divide function returns the result of dividing 5 by 0, which will raise
a ZeroDivisionError exception.

In  the try block, we call thedivide function, and in the
following except block, we handle the ZeroDivisionError exception by
printing a custom error message: "Why on earth you are dividing a
number by ZERO!!".

In case any other exception is raised, we catch it in another except block and
print a different message: "Any other exception".

This way, if an exception is raised during the execution of
the divide function, it will be caught and handled, and the program will not
crash.

doies +bF o 8T Al bVl e Jolacld Aaey Ty -except 268 Loree I lohal| 287 s
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Define a custom exception class which takes a string message as attribute.
oS Ak Uiy 56 daases exception sbinl &b G e

Halelatl |

class CustomException(Exception):
"""Exception raised for custom purpose

Attributes:
message -- explanation of the error

def __init__ (self, message):
self.message = message

num = int(input())
try:
if num < 1@:
raise CustomException("Input is less than 10")
elif num > 10:
raise CustomException("Input is grater than 10")
except CustomException as ce:
print("The error raised:

+ ce.message)
:ChatGPT g i

The code defines a custom exception class called CustomException that
inherits from the built-in Exception class. The custom exception class takes
in @ message as an argument and sets it as an attribute.

The code then takes in a number from the user, converts it to an integer, and
stores it in the num variable. The code then uses a try-except block to
handle the custom exception.

If numis less than 10, the code raises the custom exception with the
message "Input is less than 10". If numis greater than 10, the code
raises the custom exception with the message "Input is greater than

10".
In the except block, the code prints the message attribute of the custom
exception, with the message "The error raised: " concatenated to the

front.
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Assuming that we have some email addresses in the
"username@companyname.com" format, please write program to print the
user name of a given email address. Both user names and company names
are composed of letters only.

'username@companyname.com’ Gy g5 S0Y Al sl A Lo ol ol sl
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Haletatl |
import re
email = "john@google.com elise@python.com"
pattern = "(\w+)@\w+.com"
ans = re.findall(pattern, email)
print(ans)
:ChatGPT g i

The given code uses the re module in Python to find all occurrences of a
specific pattern in a string. The pattern being searched for is defined
as "(\w+)@\w+.com" and it represents an email address format.

The findall method of the re module is wused to search the
string email and return all occurrences of the pattern defined in pattern. The
result is stored in the ans variable and finally, the result is printed using
the print statement.

The output of the code will be [ 'john', 'elise'], which are the substrings
that match the pattern.
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Assuming that we have some email addresses in the
"username@companyname.com" format, please write program to print the
company name of a given email address. Both user names and company
names are composed of letters only.

'username@companyname.com’ Ges G5 SIN Al sl an Lodd ol el sl
el sland o IS0 SE5 L pme 55 7S] Ol gd 3S00) l oLl ol BLST
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Haletatl |
import re
email = "john@google.com elise@python.com"
pattern = "\w+@(\w+).com"
ans = re.findall(pattern, email)
print(ans)
:ChatGPT g i

The code imports the re (regular expression) module. Then it defines a
string email that contains two email addresses.
A regular expression pattern pattern is then defined to match

words (\w+) before the @ symbol, followed by another
word (\w+) and .com.
The re.findall function is called, passing in

the pattern and email strings. The function returns a list of all the matches
found in the email string and it is assigned to the variable ans.
Finally, ans is printed, which would output: [ 'google', 'python'].
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Write a program which accepts a sequence of words separated by whitespace
as input to print the words composed of digits only.

oo &Sl LSl dela) M- 0aS Loy Bliar D gaite LS o Al oy Bresls p ST
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Haletatl |

email = input().split()
ans = [word for word in email if word.isdigit()] # using list
comprehension method
print(ans)
:ChatGPT ¢ juw

This code takes a list of words as input and splits it into separate words. Then
it uses a list comprehension to extract all the words that are numbers. Finally,
it prints the resulting list of numbers.
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Print a unicode string "hello world".
"hello world" > 5 5 ks ol

:2gAll

s = u"hello world"
print(s)
:ChatGPT g i

The following code is written in Python, it defines a Unicode string s with the
value "hello world" and then prints it to the console.

Unicode strings in Python are denoted by prefixing the string with the
letter "u' asin u"hello world". This means that the string is encoded in the
Unicode character set, which allows for the representation of a wide range of
characters from many different languages.

In this code snippet, s is defined as a Unicode string and then printed to the
console using the print function. The output of the code will be hello
world.

L@;Ja(.., "hello world" 4.l Unicode dudw O n sa 5 ‘o)zilf&lggj:&a%;u\ >l
r§>v.';” 3.;\?}&5«

QLS Ut Ol Al Bl 8L Gk e 0L @Unicode Jod J) 81 o
JQQQC?ngm‘Lhﬁcodegg>jhg»axégg;m1L¢J\Qﬂég!infu"hello world"
ksl SR e doddl e GV e il s i gazes

plasel, (&aﬁ\ a»jbsl.oL@:o\,.L‘.:gvﬁ Unicode dlS's S 0 i ;ﬂ\md
-hello world s 550l 1,5 55w .print dls



ChatGPT polaiwl ol rolci

57 ol

:Joll

Write a program to read an ASCII string and to convert it to a unicode string
encoded by utf-8.

utf-8 daul s 3,240 Unicode A JI g 55555 ASCIT ks 351 20 Gesl 5 S

:2gAll
s = input()
u = s.encode("utf-8")
print(u)
:ChatGPT g i

The code first takes input from the user and stores it in the variable s. Then it
uses the encode method of the str class to encode the string s into utf-
8format and stores the result in a variable u. Finally, it prints the encoded
string u.

The encode method is used to convert the string into a specific encoding
format, in this case, utf-8. The utf-8 format is a widely used character
encoding that can handle a wide range of characters from different languages
and scripts.

By converting the string into utf-8, it can be transmitted over the internet
and stored in various data storage systems in a consistent manner, ensuring
that the characters are properly displayed on different platforms.
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Write a special comment to indicate a Python source code file is in unicode.
-Unicode 35y 5 050l siduas § 40 Cile of Jla,Lasl Lols- Gk 28

:2gAll

# -*- coding: utf-8 -*-
:ChatGPT ¢ juw

Theline # -*- coding: utf-8 -*- isa special comment line in the Python
code that indicates the encoding of the source code file. In this case, the
source code is encoded using UTF-8, which is a widely used character
encoding that can handle a large number of characters from various scripts
and languages.

This line is usually placed at the beginning of the file to specify the encoding
of the file, which helps the Python interpreter understand and process the file
correctly.

ile e 5 I to 05k 355 G el G5 v o8 # -*- coding: utf-8 -*- L.
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Write a program to compute 1/2+2/3+3/4+...+n/n+1 with a given n input by
console (n>0).

M\S»jlk.wlﬁ:w ndB—.slcan/n+ T4+ 4/3+3/2+2/1 Clusd Besls p S

.(n>0)
Haletatl |
n = int(input())
sum = @
for i in range(1, n + 1):
sum += i / (i + 1)
print(round(sum, 2)) # rounded to 2 decimal point
:ChatGPT ¢ juw

The code snippet computes and prints the sum of a series. The series formula
is defined as follows:

sum = (1/2) + (2/3) + (3/4) + ... + (n/(n + 1))

The input n is expected to be a positive integer and determines the number
of terms in the series. The code uses a for loop to iterate through the range
1ton + 1and calculates each term of the series by dividing i by (i +
1) where i is the current iteration value. Finally, the sum of all terms is
calculated and rounded to 2 decimal places using the round function. The
result is then printed.
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Write a program to compute: f(n) = f(n - 1) + 100, n>0 with a given n

input by console (n>0).
(5ol By Aol g sdoes 11 JU3] e 1> 0 f () = £ (0 = 1) + 100 1olussd Besl; S

.(n>0)
Haletatl |
def f(n):
if n ==
return @
return f(n - 1) + 100
n = int(input())
print(f(n))
:ChatGPT g i
The following code is a recursive function in Python that calculates the sum
of the series 100 + 200 + 300 + ... + 100 * nwherenis the input
argument.

The function f(n) takes an integer n as input. If n is 0, it returns 0. Otherwise,
it calls itself with the argument n-1 and adds 100 to the result. This process
repeats until the base case of n=0 is reached, and then the final result is
returned up the call stack.

The code also takes a user input n, converts it to an integer, and passes it as
an argument to the f function. The result of the f function is then printed.
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The Fibonacci Sequence is computed based on the following formula:
I dnnall al] e 250 b e Ol o
f(0)=0,
f(1)=1)

f(n) = f(n - 1) + f(n - 2), n > 1
Please write a program to compute the value of f(n) with a given n input by

console.
oSl s> 5 Aol gp 3does 1 L £(1) dad Slosed ol p LS 2 2
Haletatl |
def f(n):
if n < 2:
return n
return f(n - 1) + f(n - 2)
n = int(input())
print(f(n))
:ChatGPT ¢ juw

This code implements the recursive function £(n), which returns the n-th
number in the Fibonacci sequence. The Fibonacci sequence is a sequence of
numbers where each number is the sum of the two preceding numbers. In
this case, the sequence starts with 0 and 1, so the first two numbers in the
sequence are 0 and 1.

The function first checks if n is less than 2, and if so, it returns n. This serves
as the base case for the recursion. If nis greater than or equal to 2, the
function calls itself twice, each time with an argument that is one less than the
current value of n. The two calls to f(n - 1) and f(n - 2) represent the
two preceding numbers in the sequence, and the sum of these two calls gives
the next number in the sequence. This process continues until n becomes less
than 2, at which point the base case is reached and the recursion stops.
Finally, the code takes an input n from the user, and passes it as an argument
to the function f(n). The function returns the n-th number in the Fibonacci
sequence, which is printed to the screen.
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The Fibonacci Sequence is computed based on the following formula:
I dnnall al] e 250 b e Ol o

£(0)=0,
£(1)=1,

f(n) = f(n - 1) + f(n - 2), n > 1

Please write a program to compute the value of f(n) with a given n input by
console and prints all the values all along.
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:2gAll

def f(n):
if n < 2:
fibo[n] = n
return fibo[n]
fibo[n] = f(n - 1) + f(n - 2)
return fibo[n]

n = int(input())

fibo = [@] * (n + 1) # initialize a list of size (n+1)

f(n) # call once and it will set value to fibo[@-n]

fibo = [str(i) for i in fibo] # converting integer data to string
type

ans = ",".join(fibo) # joining all string element of fibo with ',
character

print(ans)

:ChatGPT g juu

The code above calculates the first n terms of the Fibonacci sequence using a
recursive function f.

The function takes an argument n and checks if it is less than 2. If it is, it stores
nin the fibo list and returns n.

Otherwise, it calculates the n-th term of the sequence by calling the function
with n-1 and n-2 as arguments, adds the results and stores it in the fibo list.
The function returns the n-th term.
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The function is called with the input value of n and the fibo list is initialized
with 0's. The function is called to calculate the first n terms of the sequence
and the results are stored in the fibo list.

Finally, the list is converted to a string with each element separated by a
comma and the result is printed.
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Please write a program using generator to print the even numbers between 0
and n in comma separated form while n is input by console:

o Loy dloliy J grain S (30 5 0 G deoms 31 26, Y1 e Llad sl plisinaly gesls 46T 7
M‘ s>y Zda..ﬂ\j.: ndl}sl

Haletatl |

def EvenGenerator(n):
i=290
while i <= n:
if 1% 2 ==
yield i
i+=1

n = int(raw_input())

values = []

for i in EvenGenerator(n):
values.append(str(i))

print ",".join(values)
:ChatGPT g i

The following code generates a list of even numbers up to a given number n.
This is achieved using a generator function EvenGenerator(n). The
generator function EvenGenerator(n) generates even numbers up
to n using a while loop.

The yield statement is used in the generator function to return each even
number. This allows the generator to pause its execution after each iteration
and return the current value of i. This way, we can generate a series of even
numbers without having to store them all in memory.

The generator function is called with the input n and the generated even
numbers are stored in the list values. The values list is then converted to a
string separated by commas using the join method and printed as the final
result.



ChatGPT polaaiwl gl rolci 103

Wgall Dls plasenly N5 G325 o2 N ore 0By o Lzl rujyp W56 JUl 5 Sl ad
n J ke >3 Blasl  EvenGenerator(n) 4l dls W5 .EvenGenerator(n)
while Gl plasal

B350 0ddes Slisls A pold Wit oy - 55 o35 JS gy sl B> Gydeld Alor plised oy
055 Fora 3l pB5 Y1 n Al o] Loy ey lall el 3 I Il Aol gLy 5SS S A
B SI Glaz Leuiis JLdrod

dxs o2 .values LSl s gell i3l fl.”eﬂ\ 25 s N oY me sl Al sloaad 0o
S lgelby join ik plsenl Jolsts dgaie dds J) values dob Jooo clls
A5l



104 | ChatGPT plaAiwl gl ralc

64 ) polJl

:Joll

Please write a program using generator to print the numbers which can be
divisible by 5 and 7 between 0 and n in comma separated form while n is
input by console:

5000755 e kil 15 085 0 Sy 1 01,1 deLdal W gl pltely pmals LS 5
oSl By el 1 U] o Loty ol J s S5 i

Haletatl |

def generate(n):
for i in range(n + 1):
if (
i % 35 ==
): # 5*%7 = 35, if a number is divisible by a & b then it
is also divisible by a*b
yield i

n = int(input())
resp = [str(i) for i in generate(n)]

print(",".join(resp))
:ChatGPT g i

The following code snippet defines a function called generate that takes an
integer n as input. The function uses the range function to generate a range
of numbers from 0 to n and uses a for loop to iterate through this range.
The for loop checks if the number i is divisible by 35, if it is divisible, it is
added to the generator using the yield keyword. This allows us to generate
a sequence of numbers that are divisible by 35.

Finally, the list comprehension resp takes the numbers generated from the
generator and converts them into a list of strings. The list is then joined using
the join method and separated by a comma. The final result is then printed
to the console.
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Please write assert statements to verify that every number in the list [2,4,6,8]
is even.

(25 5 [2046.8] &asldl 33, JS O (o el ASTHI SULy LS 2 3

:2gAll
data = [2, 4, 5, 6]
for i in data:
assert i % 2 == 0, "{} is not an even number".format(i)
:ChatGPT g i

This code is checking if each element in the list data is even or not. If the
element is not even, it will raise an AssertionError with the message "x is
not an even number", where x is the current element in the iteration.

The assert statement is used to check if a given condition is met, and if not,
raise an exception. In this case, the condition being checked is if the element
divided by 2 has a remainder of O (i.e. if it is even). If this condition is met for
all elements in the list, the code will execute without raising any exceptions.
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Please write a program which accepts basic mathematic expression from
console and print the evaluation result.

el Ao Aol by (Sl 3y yn b1 b ) ol L ol RS

:2gAll
expression = input()
ans = eval(expression)
print(ans)
:ChatGPT g i

The code reads an expression as input from the user and then evaluates it
using the eval function in Python. The result of the evaluation is then printed
to the console.

For example, if the user inputs 2 + 3, the code will evaluate 2 + 3 to 5 and
then print 5 to the console.
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Please write a binary search function which searches an item in a sorted list.
The function should return the index of element to be searched in the list.

il o pd gl DN 055 O oy 15 50 2036 (i (58 e BSLS Gy Dls BUS >
AW Gas Gl ]l

Haletatl |

def binary_search_Ascending(array, target):

lower = 0

upper = len(array)

print("Array Length:", upper)

while lower < upper:
x = (lower + upper) // 2
print("Middle Value:", x)
value = array[x]

if target == value:
return x

elif target > value:
lower = x

elif target < value:
upper = X

Array = [1, 5, 8, 1@, 12, 13, 55, 66, 73, 78, 82, 85, 88, 99]
print("The Value Found at Index:", binary_search_Ascending(Array,
82))

:ChatGPT ¢ juw

The code performs a binary search algorithm in an ascending sorted array to
find the index of a target value.

The function binary_search_Ascending takes two
arguments, array and target. It first initializes two
variables, lower and upper, to be the start and end of the array, respectively.
The while loop runs until lower becomes greater than or equal to upper. In
each iteration, x is calculated as the middle value of the current subarray
defined by lower and upper, and the value of the array at that index is stored
in value.
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Then, the target value is compared with the middle value, if they are equal,
the index x is returned as the answer. If the target value is greater than
the middle value, lower is updated to be equal to x so that the next search
will be in the upper half of the array. If the target value is less than the middle
value, upper is updated to be equal to x, so that the next search will be in the
lower half of the array.

The print statements are used for debugging purposes to see the
intermediate values of x and the length of the array.

The code then calls the function with an example array and target value and
prints the index at which the target value is found.
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Please generate a random float where the value is between 10 and 100 using
Python module.

.ij.:»Lngj f\.bdw:b 100 & 10&@‘(—)\;‘3 i’:‘"g.;"j':& L“;J‘i" Sde lefg

:2gAll
import random
rand_num = random.uniform(10, 100)
print(rand_num)
:ChatGPT ¢ juw

The code is generating a random floating-point number between 10 and 100
using the uniform function from the random module in Python.
The uniform function generates a random float value between two given
parameters (inclusive). In this case, it's generating a random float value
between 10 and 100.
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Please generate a random float where the value is between 5 and 95 using
Python module.

052b oo el ol el 95 5 5 o Aol 515 S Sl gk sde oL 2 2

:2gAll
import random
rand_num = random.uniform(5, 95)
print(rand_num)
:ChatGPT ¢ juw

The code generates a random floating-point number between 5 and 95.

The first line import random is used to import the random module in Python,
which provides functions for generating random numbers.

The second line rand_num = random.uniform(5, 95) generates a random
floating-point number between 5 and 95 (including 5 but not including 95)
and assigns it to the variable rand_num.

Finally, the line print(rand_num) prints the generated random number.
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Please write a program to output a random even number between 0 and 10
inclusive using random module and list comprehension.

list s random sa>5 plasewl 10 5 0 o Slsde s sde 215N el LS > 2
¢ o P g2 b <
.comprehension

Haletatl |
import random
resp = [i for i in range(0, 11, 2)]
print(random.choice(resp))
:ChatGPT ¢ juw

The code imports the random module in Python, which provides a suite of
functions to generate pseudo-random numbers.

Then, a list resp is created using list comprehension, with the numbers from
0 to 10 with a step of 2.

Finally, the random. choice method is used to select a random element from
the list resp. The selected random element is then printed to the console.
This code will output a random even number between 0 and 10.
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Please write a program to output a random number, which is divisible by 5
and 7, between 10 and 150 inclusive using random module and list
comprehension.

sl Mol 150 5 10 e « 7 5 5 e ol Jed (5015 ¢ 352 o35 ) 5-Y ol S 22
. list comprehensions random s>

:2gAll
import random
resp = [i for i in range(10, 151) if i % 35 == 0]
print(random.choice(resp))
:ChatGPT g i

The code imports the random module in Python, which provides functions for
generating pseudo-random numbers.

Then, it defines a list called resp using a list comprehension that generates a
list of numbers from 10 to 150 (inclusive) that are divisible by 35 (i.e., have a
remainder of 0 when divided by 35).

Finally, the code prints a random element from this list using
the random. choice function, which returns a randomly selected element
from a given sequence (in this case, the resp list).
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Please write a program to generate a list with 5 random numbers between
100 and 200 inclusive.

L5 200 5 100 (e &3l 52 261 5 Lgy 2056 £La3Y guall y BLS > 5

:2gAll
import random
resp = random.sample(range(100, 201), 5)
print(resp)
:ChatGPT ¢ juw

This code snippet is written in Python and uses the random module to
generate a list of 5 random numbers within the range of 100 to 200 (inclusive).
First, we import the random module, which provides a suite of functions for
generating pseudo-random numbers.

Next, we use the random.sample method to generate a list of 5 random
numbers within the range of 100 to 200. The random.sample method takes
two arguments: the first argument is the range of numbers to choose from (in
this case, it's range (100, 201)), and the second argument is the number of
items to choose from that range (in this case, it's 5).

Finally, we use the print function to output the list of 5 randomly generated
numbers.
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Please write a program to randomly generate a list with 5 even numbers
between 100 and 200 inclusive.

200 5 100 oo &g 3ol 5 (o £ 550 £31 gk L35 LY ol BUS

Haletatl |
import random
resp = random.sample(range(100, 201, 2), 5)
print(resp)
:ChatGPT ¢ juw

This code snippet generates 5 random numbers from a range of even
numbers between 100 and 201 (inclusive).

It starts by importing the random module, which contains a number of useful
functions for generating random numbers, shuffling lists, and choosing
random items from a list.

Next, the line resp = random.sample(range(100, 201, 2), 5) generates
a list of 5 random numbers from a range of even numbers between 100 and
201 (inclusive).

The range(100, 201, 2) function generates a list of all even numbers
between 100 and 201 (inclusive), and random.sample(range(100, 201,
2), 5) randomly chooses 5 numbers from this list.

Finally, the line print(resp) prints the list of 5 random numbers.
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Please write a program to randomly generate a list with 5 numbers, which are
divisible by 5 and 7 , between 1 and 1000 inclusive.

1000 5 1 o « 7 55 (o Lol LB 551 5 o &S00 L3l pe L35 LY gl BUS 2 2

Haletatl |
import random
lst = [1i for i in range(1, 1001) if i % 35 == 0]
resp = random.sample(lst, 5)
print(resp)
:ChatGPT ¢ juw

This code snippet imports the random module in Python, which provides
functions to generate random numbers.

The first line defines a list called 1st which contains all the numbers from 1
to 1000 that are divisible by 35. This is done using a list comprehension.

The second line uses the random.sample function from the random module
to generate 5 random numbers from the list 1st. This function takes two
arguments, the first is the list from which the random samples should be
selected, and the second is the number of samples to select.

Finally, the last line prints the result of the resp variable, which contains the
5 random numbers selected from the 1st list.
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Please write a program to randomly print a integer number between 7 and 15
inclusive.

Las 1557 (o Slpte S8 oo 30 el geals s 1S o 2
:2gAll

import random
print(random.randrange(7, 16))

:ChatGPT g i

The following code snippet is written in Python and it uses
the random module.

The random.randrange(start, stop) method is used to generate a
random number within a range, in this case between 7 and 16 (excluding 16).
The result of the random. randrange(7, 16) method is then printed to the
console. This means that each time the code is run, a different random
number between 7 and 16 will be generated and printed to the console.
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Please write a program to compress and decompress the string "hello
world!hello world!hello world!hello world!".

hello world! hello world! hello world! hello " &bl Laxs Sl g bzl peali 5 LS 3

Sworld
Haletatl |
import zlib
t = z1lib.compress(b'hello world!hello world!hello world!hello
world!")
print(t)
print(zlib.decompress(t))
:ChatGPT g i

The code is using the zlib library to perform data compression and
decompression. The z1ib library provides in-memory compression and
decompression functions, including the compress and decompress functions.
In the code, the string "hello world!hello world!hello world!hello
world!" is first converted to a byte object using b'hello world!hello
world!hello world!hello world!'. This byte object is then passed to
the compress function of the z1ib library which returns a compressed
version of the byte object.

The compressed version of the byte object is then printed, and finally, the
compressed version of the byte object is passed to the decompress function
of the zlib library which returns the original byte object. The
decompressed byte object is then printed.

In this way, the code demonstrates the use of z1ib library for data
compression and decompression in Python.

by arss Jlss z11b 45 35 Lehains s Wl SULIN arss 6l5Y 711b £:5s 5501 sy

exall Gy Laaall Jls U3 Bl 6 ST Glars
"hello world!hello world!hello world!hello world!" il oS3l 3
b'hello world!hello world!hello el <ol S8 f}bT o 05



ChatGPT (olaaiwl gl rolci 121

z1ib icd compress dls J) s coldl 58 I ‘world!hello world!’
ol S oAb saae el )b o 55 I

S slb (5 8 .gLJY\ <ol UJK@; I z1ib &5 ddecompress Al Jl ol 5
PUFROH o5 Ml Ul

05l Ghrall W]y UL Laaa) 213 45 sl 5 S0 b 5 (il ey



122 | ChatGPT plaAiwl gl ralc

77 ¢ )0l

:Joll

Please write a program to print the running time of execution of "1+1" for
100 times.

550 100" 4 1" dkS ks w35 dellal pmels p HES 2

:2gAll
import time

before = time.time()
for i in range(100):
Xx=1+1
after = time.time()
execution_time = after - before
print(execution_time)
:ChatGPT g i

The code is measuring the execution time of a simple operation. It's using
the time module in Python which provides various time-related functions.
At the start of the code, the current time is recorded by before
time.time().

Then, the code runs a for loop 100 times where a simple operation x = 1 +
1 is performed.

At the end of the loop, the current time is recorded again by after
time.time().

Finally, the execution time is calculated by
subtracting before from after and stored in the variable execution_time.
The execution time is then printed using print(execution_time). This
shows how much time it took to run the simple operation 100 times.
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-print(execution_time) plisel dadl c3y aelb (=5 5 .execution_time
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Please write a program to shuffle and print the list [3,6,7,8].

[3:6.7.8] sl s L3l ook pmols S oo

:2gAll
import random
1st = [3, 6, 7, 8]
random.shuffle(lst)
print(1lst)
:ChatGPT ¢ juw

This code is in the Python programming language. It makes use of
the random module which provides a set of functions for generating pseudo-
random numbers.

The code defines a list called 1st that contains the values [3, 6, 7, 8].

Then, the function shuffle from the random module is used to shuffle the
items in the list 1st. The shuffle function randomly reorders the items in the
list.

Finally, the shuffled list is printed using the print statement.

Jsl RS z\ﬁ}w JBJB JJ‘ random 5-19-)5\ fﬂJ@r.‘L..:a L@"l Qﬂb 3};»)_7 i L}JJ}}A A}Q\ fia
RPN IER WP

[8 ¢ 7 ¢6« 3](..‘.2)\&;9@)»5 1st cond a5l 5831 Gy

L}EJ)?')“J‘ oladl Jﬁ.&ﬂ random dlas! IRES % shuffle diWl rU;‘r_‘;..u\ == G U

(Slae JSs Al J85 g2 sell polad) 5 5 8alels shuffle dls ook . 1st daslall

Print e plasenl Gl pte Lhls o5 ) Ll 2oLl (25 (5]
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Please write a program to generate all sentences where subject is in ["I",

"You"] and verb is in ["Play”, "Love"] and the object is in ["Hockey","Football"].

["Play”, d=dlls ['1", "You"] GJeWl 050 S ol poaz W) gl 1S 22
.["Hockey","Football"] 3531 0 55 "Love"]

Haletatl |

subjects = ["I", "You"]
verbs = ["Play", "Love"]
objects = ["Hockey", "Football"]

for sub in subjects:
for verb in verbs:
for obj in objects:
print("{} {} {}".format(sub, verb, obj))

:ChatGPT ¢ juw

The following code snippet in Python generates all possible combinations of
a sentence using elements from three different lists: subjects, verbs,
and objects.

The subjects list contains the words "I" and "You". The verbs list contains
the words "Play" and "Love". The objects list contains the words "Hockey"
and "Football".

The code uses a nested loop, with each outer loop iterating through each
element in one of the lists (subjects, verbs, objects). The inner loop then
iterates through the elements of the other two lists, combining each subject-
verb-object combination and printing the resulting sentence.

For example, the first combination would be "I Play Hockey". The code will
generate a total of (2 * 2 * 2 =) 8 combinations of sentences in total.

Bl M a ole plisnl Herd) ESaall SLS ) o Ok G 35801 Calanie Wy
.objects 4 Jsxadl sverbs Jxils subjects Jela)) :daks

"Play” =edSdl e verbs il g s "You" 5 1" el e subjects 456 (g g
."Football" s "Hockey" -;=elSJl e objects sl 5o . "Love" 5
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S o] e JS M LS5 dals Gl 8w il Gl 3S0 pdey
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Please write a program to print the list after removing even numbers in
[5,6,77,45,22,12,24].

[5:6:77:45:22012:24] G50 o1,V U15] oy Le5W) delda) el LS 2

:2gAll
1i = [5, 6, 77, 45, 22, 12, 24]
1st = list(filter(lambda n: n % 2 != 0, 1li))
print(lst)
:ChatGPT g i

This is a Python code snippet that uses the filter method
and lambda function to extract the odd numbers from a list.

The list1iis initialized with a set of integers. The filter method
and lambda function are used to extract only the odd numbers from the list.
The filter method takes a function and a list as arguments.
The lambda function is an anonymous function that takes an argument n and
returns True if n is not divisible by 2, and False otherwise.
The filter method then applies the lambda function to each element of
the 11i list and returns a new list containing only the elements for which the
function returns True. This new list is stored in the 1st variable.

Finally, the resulting list is printed using the print function.

A5l e A 2 ruﬁu gl =¥ lambda dls, filter da,b paseun, Ol 558 ikt s
lambda Ulss Filter Liy b pliseul oy doeeall sleVl o G joray 11 A5 28 o5
AWl e das Lo 201 6, Y1 ] ey

KU U SUPIN U JUS-{ & lambda D> . oola S 43065 Vs Filter ia b isb
day filter &b oot .clls OO False duy 2 o dandld UG 2 n <3813 True
e B (g 5o Bl &Sl Uy 11 4B ole e paie S JAe 1ambda dls e S5

Y1 el Gl A5l o (55 o2 L) True DIl a5 I ol

Print s plisenl ol 2l deld 5
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By using list comprehension, please write a program to print the list after
removing numbers which are divisible by 5 and 7 in [12,24,35,70,88,120,155].

Ao dld AL 215,91 D3] dny &o3LA1 Aelda) rals ) LS 3 <list comprehension elaseul
[12:24:35.70.88.120.155] 37 5 5 L\

:2gAll
1li = [12, 24, 35, 70, 88, 120, 155]
1li = [x for x in 1i if x % 35 != 0]
print(1li)
:ChatGPT g i

The code defines a list of integers called 1i. Then, it uses a list comprehension
to create a new list of integers, filtering out the elements of 1i that are
divisible by 35.

The if x % 35 != @ part in the list comprehension checks whether x is not
divisible by 35. If this condition is true, then x is added to the new list.
Finally, the code prints the new filtered list.

LY list comprehension pusag (s da .11 jend dovonsall 1Y e 2035 3 SN G yng
35 e Lol AW 11 uolbis Lhnas mo conmeall 310V po 3 4o

13 .35 e damdld BB 2 X O13] Los 23l sl 1F X % 35 = 0 ejmll i
Sl LU ) X BLS (2d Bmes b0 1 OIS

el sliadl 203l 381wl ([
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By using list comprehension, please write a program to print the list after
removing the Oth, 2nd, 4th,6th numbers in [12,24,35,70,88,120,155].

G6 ¢ 420066,V U] dny 15U deLlad gl 1S’ 2 clist comprehension plasel
[12:24.35.70.88:120.155]

:2gAll
li = [12, 24, 35, 70, 88, 120, 155]
1i = [1i[i] for i in range(len(li)) if i % 2 != 0]
print(1i)
:ChatGPT g 1

This code snippet uses Python to create a list 1i of numbers, and then creates
a new list 11 with only the elements located at odd indices of the original
list 11.

It starts by defining a list 11 of 7 integers.

Then, it creates a new list1iusing a list comprehension. The list
comprehension includes all elements located at odd indices (indexes 1, 3, 5,
etc.) of the original list 1i.

Finally, the new list 11 is printed to the console.

5o 1 s 2 2Lk pss o5 B0 1H 456 oLasY 0l 1 5 01 Calinie oy
Ji ALV LS e 2055 Sl e 85 g2 el uoliall s Lazs

e 31061 7 e 0555 11 56 i my Tho

g AWl Clasd Joly Llist comprehension plasewl 11 s 4036 oL o5k o5
11 ALV AW o (] 65 3T s edll) Ao b Sl e (353 g poll ol
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By using list comprehension, please write a program to print the list after
removing the 2nd - 4th numbers in [12,24,35,70,88,120,155].

Sl e (\5)&9‘ B3] day L3 della) eals LS > 5 list comprehension plaseal,
.[12‘24‘35‘7()‘88‘120‘155] L}@\Jj\

:2gAll
1li = [12, 24, 35, 70, 88, 120, 155]
1i = [1i[i] for i in range(len(li)) if i < 3 or 4 < i]
print(1li)
:ChatGPT g i

This code snippet is written in Python and it defines a list called 1i which
contains 7 numbers.

The next line of code creates a new list called 1i which contains elements of
the original list 1i based on the conditions specified in a list comprehension.
A list comprehension is a concise way of creating a new list from an existing
one.

The condition specified in this list comprehensionis if i < 3 or 4 < i,
which means the elements will be selected if the index of the element (i) is
less than 3 or greater than 4.

Finally, the new list is printed using the print() function.

U1 7 e (g5 11 pond 2030 Oy 525 050 Bl e 3,801 iz ST n

LV S o oolis o (650 11 o 8k 456 A ) Oladadl o JBII Lol iy
list comprehension gssasel by 21 JJ 5ol 11

83 92 0 450 10 BUsd Aa5B £ LiSY 852 40 4 b list comprehension Ja

&l la df 1< 3 or 4 < 1013 s oda list comprehension gsdswl! b 2l
4 o ST513 e BT (1) raiadl o gd OST13] oliad] s o

.print() dis r\.bw' 2w dudad! A5 Al o5 “3:57
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By using list comprehension, please write a program generate a 358 3D array
whose each element is 0.

JS 055 SV 4396 358 1 yian sL2Y sl LS 3 ist comprehension plasel
:2gAll

array = [[[@ for col in range(8)] for col in range(5)] for row in
range(3)]
:ChatGPT ¢ juw

The code creates a 3-dimensional list in Python, also called an array. This array
has 3 layers. The first layer has 3 rows. The second layer has 5 columns. The
third layer has 8 columns. Each value in the 3rd layer is set to zero.

In other words, the code creates a 3x5x8 matrix filled with zeros. The matrix
has 3 pages, with each page having 5 rows and 8 columns, making a total of
3 x5x8 =120 zeros in the array.

dadall . olab 3 Lo de perall ol 3 piuae Lol Land (0 s0b dolo¥I 2596 156 5,801 ¢
Glod S s o2 3kosl 8 Ly I A5 all skl 5 Lgy L3 A2 Ll L3 ps 3 e 05555 5V
Saall e ) dakl

JS (Sl 3 e Bsiaall 5500 Hlao VL dde 3 X 5 X 8 & siaas 35S0 1ot AT nes
Bshadll Glae 3X 5% 8 = 120 Jlar] Jores Lo ihasl 8 5 G520 5 L i
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By using list comprehension, please write a program to print the list after
removing the Oth, 4th, 5th numbers in [12,24,35,70,88,120,155].

35 ¢4 <0 B, Y1 U] sy LWl della) sl &S 2 clist comprehension elaseul
[12:24.35.70.88:120.155]

:2gAll
1li = [12, 24, 35, 70, 88, 120, 155]
1i = [1i[i] for i in range(len(li)) if i not in (@, 4, 5)]
print(1li)
:ChatGPT g i

This code defines a list of numbers named 1i. It then creates a new list
named 1i which consists of elements from the original 11i list where the index
is not equal to 0, 4, and 5.

The new 1i is constructed using a list comprehension. A list comprehension

is a concise way to create a new list in Python. The syntax is:
new_list = [expression for item in iterable if condition]

In this code, expression isli[i], iterable isrange(len(1li)),
and conditionisi not in (@, 4, 5).This expression generates a new list
with elements from the 1i list where the index is not 0, 4, or 5. Finally, the
code prints the new 1i.

oo 05555 Al T a3 B a3 oLl pst o 1 slaodl 21, Y1 2a36 5,01 i O my
55450 jopill Ssles ¥ oo LY 13 456 e olis
in,b o list comprehension .list comprehension plasewly sapdedl 11 43 L] o3
tes el L0 8ol didodr LB LLASY § 32 50

new list = [expression for item in iterable if condition]

range (len s»iterable | Sl LWy (1i[i] s» expression sl oo ilda
Blod 4B ol lda s i .1 not in (@, 4, 5) s condition b,y (1i))

ol 15 SO ks ol 5 514 510 i) 080 Y o 13 236 e olie o (g0
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By using list comprehension, please write a program to print the list after
removing the value 24 in [12,24,35,24,88,120,155].

24 Lol U] An el Leld) el LLST 2 clist comprehension plasel
[12:24.35.24.88.120.155]

:2gAll

1li = [12, 24, 35, 24, 88, 120, 155]
li.remove(24) # this will remove only the first occurrence of 24
print(1i)

:ChatGPT g 1

This code defines a list named 1i with some values. Then, it removes the first
occurrence of the value 24 from the list using the remove () method. Finally,
it prints the resulting list.

LSl (e 24 Aol SN a2l i oS3 g ol Gy e T ey 2036 5801 i ey
Aol LWl Aol 3 [3 L remove () 44 b plusenl
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With two given lists [1,3,6,78,35,55] and [12,24,35,24,88,120,155], write a
program to make a list whose elements are intersection of the above given
lists.

Beslop 281 ([12:24:35:2488:1200155] 5 [1:3:6:78:35:55] (isdoms (pmadls plisenaly
ool 8, STall (3130 s Lo juslie ol 235 o)

Haletatl |

listl = [1, 3, 6, 78, 35, 55]
list2 = [12, 24, 35, 24, 88, 120, 155]
setl = set(listl)
set2 = set(list2)
intersection = set.intersection(setl, set2)
print(intersection)

:ChatGPT g i

The code defines two lists, 1ist1l and 1ist2 with some values. Then, it
creates two sets setl and set2 from these two lists respectively.

The intersection variable is assigned the result of the intersection
of setl and set2 using the intersection method of the set class. This
method returns a set that contains all the elements that are present in
both setl and set2.

Finally, the code prints the intersection variable which contains the result
of the intersection of set1 and set2.

setl ooe gezee sLil ooy (5 day 0l an e 1ist2 5 listl (malls 5 SIGb pmy
S e sl 3l e set 2y
intersection iy b plsewliset2s setl CLL@ b intersection e s o
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.set2;

.5et2 5 setl wblis i e 550w U intersection s 3,800 ala 5



135 | ChatGPT plaAiwl gl ralc

88 ol

:Joll

With a given list [12,24,35,24,88,120,155,88,120,155], write a program to print
this list after removing all duplicate values with original order reserved.

oda della) Bual y oS1 ([12:24035.24.88.120.155.88.120:155] &me £a3B pliienly
Smemeall Joo W o U 8) Sl ool ez U15] oy a3l

Haletatl |
1i = [12, 24, 35, 24, 88, 120, 155, 88, 120, 155]
for i in 1i:
if li.count(i) > 1:
li.remove(i)
print(1i)
:ChatGPT ¢ juw

This code snippet creates a list of integers called 1i and then loops through
each element i in the list.

For each iteration of the loop, it checks if the count of i in the list is greater
than 1. If the count is greater than 1, it removes the first occurrence of i from
the list using the remove method.

Finally, it prints the updated list after all the duplicates have been removed.

AU G pze 8 e Sl 05 11 o Bomoeal) 311 o 2036 i 5 501 Calinie ¢ 21y
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Define a class Person and its two child classes: Male and Female. All classes
have a method "getGender" which can print "Male" for Male class and
"Female" for Female class.

s "getGender" it b lpu) bl IS, Femaley Male : e 4l a2 5 Person & O o
LY &4 "Female' 5 541 &4 "Male" s lb LgSlas

:2gAll

class Person(object):
def getGender(self):
return "Unknown"

class Male(Person):
def getGender(self):
return "Male"

class Female(Person):
def getGender(self):
return "Female"

aMale = Male()

aFemale = Female()
print(aMale.getGender())
print(aFemale.getGender())

:ChatGPT g juu

The code creates a Python class called Person with a method getGender that
returns the string "Unknown".

The classMaleis a subclass of the Personclass, and it overrides
the getGender method to return the string "Male". Similarly, the
class Femaleis a subclass of thePersonclass and it overrides
the getGender method to return the string "Female".

Next, the code creates two objects, aMale and aFemale, from the
classes Male and Female, respectively. Finally, the code prints the result of
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calling the getGender method on each object. This  will
print "Male" and "Female".

AL sk sk U1 getGender Coplul me PErson (ews o5l & olal 5,801 oo

."Unknown™"
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Please write a program which count and print the numbers of each character
in a string input by console.

oSl st 5 Bansl gy JU-] Ader 305 JSpB T delbo g Ol 2 ol RS 22

:2gAll
import string
s = input()
for letter in string.ascii_lowercase:
cnt = s.count(letter)
if cnt > @:
print("{},{}".format(letter, cnt))
:ChatGPT g i

This code is a program that takes in a string as input from the user and then
counts the number of occurrences of each letter in the string (case-
insensitive).

It uses the string module's ascii_lowercase constant to get a list of all
lowercase letters in the alphabet. The program loops over each letter
in ascii_lowercase, and for each letter, it counts the number of occurrences
of that letter in the input string s using the count method. If the count of a
letter is greater than O, the program prints the letter and its count in the
format "{},{}".

R I O I R EWENPL P RECNWN O RCH ENTCS (TN IS TP RS SR AR
(S oV Do ol 2 ALl
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Please write a program which accepts a string from console and print it in
reverse order.

S o Lol s (Soull a0 e Al | ol LS 2

:2gAll
s = input()
s = "".join(reversed(s))
print(s)
:ChatGPT g i

This code takes an input string from the user and reverses its characters.
The input() function is used to get the string from the user. Then,
the reversed function is used to reverse the order of characters in the string.
Finally, the join function is used to join the reversed characters together into
a new string, which is then printed to the console.

e dsaml) nput () pasend gl Koy pasiadl e o] Al 5,01 1 a5
Akl 30,2V 3 5 S reversed s pliseal o (U5 day pdsenall e ALl
o Lol oy Al i Ao (e D Sadl G-I lay ) JOin Bl plased o2y ([
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Please write a program which accepts a string from console and print the
characters that have even indexes.

sy oles e 5505 A O o el s (Socdl sy o Ads oy sl ES 23

:2gAll
s = "Hle2131405w607r819d"
s = [s[i] for i in range(len(s)) if i % 2 == 0]
print("".join(s))
:ChatGPT g i

The given code takes a string s and creates a new list of characters by picking
characters at even-indexed positions in the input string s.

The final output is a concatenation of all the characters in the new list,
represented as a string. The result is printed on the console.

s ol ol Gb VI el o b e O N1 e B 256 12y 8 Aldn ol 5 S0 25
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Please write a program which prints all permutations of [1,2,3].

[14243] J._.:Jw\ C:vc]a.j CAL’JJ ZUL?SJJ;
:2gAll

import itertools
print(list(itertools.permutations([1, 2, 3])))

:ChatGPT g i

This code uses the itertools module in Python to generate all possible
permutations of a given list [1, 2, 3].

The permutations function from the itertools module takes a list as input
and returns an iterable object containing all possible arrangements
(permutations) of the elements in that list.

In this code, the permutations are computed for the list [1, 2, 3], and the
result is then converted to a list using the 1ist function.

The final output of the code will be a list of all possible permutations of the
list [1, 2, 3].

[1, 2, d=sdsW AN Jibu\@o}r-l.&;y dfa:'L' L}iter‘tools od> 3‘51” [ r-bl:a.«v:'
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Write a program to solve a classic ancient Chinese puzzle: We count 35 heads
and 94 legs among the chickens and rabbits in a farm. How many rabbits and
how many chickens do we have?

Aeyza AU 2l o Bl 94 5 L) 35 o s SIS 8 oo 530 Joed Grosls 2 S
L) Slrlrdll e (S5 GO,V sue oS

Haletatl |

def solve(numheads, numlegs):
ns = "No solutions!”
for i in range(numheads + 1):
j = numheads - i
if 2 *1i +4 * j == numlegs:
return i, j
return ns, ns

numheads = 35

numlegs = 94

solutions = solve(numheads, numlegs)
print(solutions)

:ChatGPT g i

The code defines a function named solvethat takes two
parameters numheads and numlegs. It then uses a for loop to iterate over a
range of values starting from 0 to the value of numheads + 1. Within the
loop, it calculates the value of j by subtracting the current value
of i from numheads. Then, it checks if the result of the expression 2 * i + 4
* jis equal to numlegs. If it is, it returns a tuple of values i and j.

If the loop completes and no solutions are found, the function returns a
tuple ns, ns which contains the string "No solutions!".

Finally, the code sets numheads to 35 and numlegsto 94, then calls
the solve function passing these values. The returned solution is then
printed.

for > pased o5 .numlegs 5 numheads ;reles 56 s01ve ons Ul 331 G pa
e ol s numheads + 1 e J10 e Tas ol e deperme (e o 1S
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Given the participants' score sheet for your University Sports Day, you are
required to find the runner-up score. You are given scores. Store them in a list
and find the score of the runner-up.

If the following string is given as input to the program:
e 523665
Then, the output of the program should be:

e 5

S il s o el e oy« ol 2 s Syl 5 855 )l

b a8 B L slas] (5 13]

e 566325
1ol A 055 O o (I3
e 5
Haletatl |
arr = map(int, input().split())
arr = list(set(arr))
arr.sort()
print(arr[-2])
:ChatGPT g juu

The code first takes an input from the user of a list of integers separated by
spaces. The input is then passed to the map function which converts the
strings into integers and returns a map object.

Next, the map object is converted into a list using the 1ist function, and
duplicates are removed by converting the list into a set and then back into a
list.
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Finally, the list is sorted in ascending order and the second last element is
printed which is the second largest element in the list.

IV 03 o2 o Sl B pain Boees sl L3l puscall o Sl Yl 5 S0 Js
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You are given a string S and width W. Your task is to wrap the string into a
paragraph of width.

If the following string is given as input to the program:
e ABCDEFGHIKLIMNOQRSTUVWXYZ 4
Then, the output of the program should be:
e ABCD EFGH UKL IMNO QRST UVWX YZ
02 e 8, QAN A o Slage W (8505 S dhdas Sl o2
el el SO I AL e 05 13
e ABCDEFGHIJKLIMNOQRSTUVWXYZ 4

el A 058 O o (U5 ny

e ABCD EFGH JJKL IMNO QRST UVWX YZ

:2gAll
import textwrap
string = input()
width = int(input())
print(textwrap.fill(string, width))
:ChatGPT ¢ i

The code snippet is using the textwrap module to wrap a given text string
into multiple lines.

The user inputs the text string and the width (number of characters per line)
they want to wrap the text into.

The code then calls the fi11 method from the textwrap module and passes
in the text string and the desired width as arguments. This method returns
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the text string, wrapped into multiple lines so that no line exceeds the width
specified.
Finally, the wrapped text is printed to the console.

Sl sde ) Eoas s der Sl textwrap s> 35801 Calanie pldeiny
b pandl Gl g U1 oo JS' 308,V sae) (5 ,ally and) ks Jlsl psenadl o 53

kel (2 ,ally dall Al 35005 textwrap susy e FI11 a2 b 5801 ek o
oA e gl 55l ¥ oy el se (356 sale cAoatdl el gl 22 ol 0dn 25 sl S
L3dowadl

oSl sy e cinlall Gl delb o5 (D5
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You are given a date. Your task is to find what the day is on that date.

Fo &5 ol e gall p Sage e o el aa)

:2gAll
import calendar
month, day, year = map(int, input().split())
dayId = calendar.weekday(year, month, day)
print(calendar.day_name[dayId].upper())
:ChatGPT ¢ juw

This code is using the calendar module in Python to find the day of the week
for a given date.

First, it takes three inputs from the user: month, day, and year. These three
inputs are combined into a single string, then separated and converted into
integers using the map function and the int function.

Next, the calendar.weekday function is used to determine the weekday for
the given date. This function takes three arguments: the year, the month, and
the day. The result is an integer representing the day of the week, where
Monday is 0 and Sunday is 6.

Finally, the calendar.day_name array is used to convert the integer
representation of the day of the week into a string, and the upper function is
used to convert the string to uppercase. The resulting string is then printed.

e gt @.Mfw e e oAl 0l dcalendar s 5 Sl s piseiny

oda e o2 year &udly day esdls month gl spasedl e oo 36 L N
Ay map Al plisenl de e slael JI b s 5 Lelaas (o2 o el Al BV OBl
.int

o 5L sl ol @_M:Y\ ¢32 Ht><d calendar.weekday dls plaseial ooy (5 dn

6 52 25315 0 3V
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foi\ esed el Saall J2aS o) calendar. day_name & yiee pliseal oo Rjees]
AW AL de D 0 0338 3T AL Lo upper @l plaseal oy s il )
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Given 2 sets of integers, M and N, print their symmetric difference in
ascending order. The term symmetric difference indicates those values that
exist in either M or N but do not exist in both.

(el 5 2 boginy Jilaxadl Gl bl (N 5 M ddoonall 31Vl (g (e goe J) a0l
ol (383 5 50 o LS N T ML (3832 podl ol Sl J] Blozedl GVl ellaas o

Haletatl |

n = int(input())
setl = set(map(int, input().split()))

m = int(input())
set2 = set(map(int, input().split()))

ans = list(setl ~ set2)
ans.sort()
for i in ans:
print(i)
:ChatGPT g i

This code takes two sets of integers as input and finds the symmetric
difference between them. The symmetric difference of two sets is defined as
the set of elements that are in either of the sets, but not in their intersection.

1. The first input line n is the number of elements in set 1, and the next
line is the elements of set1, separated by spaces. These elements are
converted to integers using the map function and stored in set1.

2. The next two lines are similar, with m being the number of elements
in set2, and the next line being the elements of set 2. These
elements are stored in set2.

3. The symmetric difference between the two sets is found using
the ~ operator, and the result is stored in the list ans.

4. The list ans is sorted and the elements are printed one by one.

Gl oy Loy Blonodl Gl doy s ©MaS Dol SN (o s samen 5 S0 Vi L
o5 e gazeall o T G0 sz sall aoliall de gazes 4l Lo 28 sazes o Jlazedl 3D
Logablis 3
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Usais setl jols sa JEI Ly csetl G moball sds 5o n dp¥ JBoY) w1
.setldlgs;sas map :\Ju}\,\swp A K S IV PRV PP PRSI E e

robe Jray JUUI adly cset2 Grolall sde m fray Eom QUL Ol el gtz 2
-set2 Jolalleda 355 02y set2

oS s N el Jale el e peredl oy lanedl SNV e gl 03 .3
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AV 5 sy bl dell s ans Al 5 o 4
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You are given words. Some words may repeat. For each word, output its
number of occurrences. The output order should correspond with the input
order of appearance of the word. See the sample input/output for
clarification.

If the following string is given as input to the program:

e 4 bcdef abcdefg bcde bcdef
Then, the output of the program should be:
e 321 1.

Bl of o LSS se 2Ll o S S LSl s S5 5 lalS o dael a3
sl Sl el [ M dadl de a1 LS ) sk ol JBsY G 5 e AN 5 5
el el) M-S LI ALl s las] 03 13]

e 4bcdefabcdefg bede bedef
1ol A 055 O o (I3

e 1123

n = int(input())

word_list
word_dict

[]
{}

for i in range(n):
word = input()
if word not in word_dict:
word_list.append(word)
word_dict[word] = word dict.get(word, 0) + 1

print(len(word_list))
for word in word_list:
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print(word_dict[word], end=" ")
:ChatGPT ¢ juu

This code takes in an integer n as input which represents the number of words
to be entered. Then it takes nwords as input and stores them in a
list word_list. It also creates a dictionary word_dict where the key is a word
and the value is the frequency of that word in the input words.

It then checks if a word is not already present in the dictionary, if yes, it
appends the word to the list word_1list. It then increments the value of the
word in the dictionary by 1.

In the end, it prints the length of the list word_1ist and the frequency of each
word in word_dict separated by a space.

Sl o n dsL (3 L] sl SISl sde Jray J50eS 0 Broens 300 5 S0 s 5L
il 0559 G- word_dict el Ll Lo ps -word_list 4.l Sl Pus M-S
R[ES (R INLOE FN TN FUT KSR W PR-N g

Bl p 525 L6 s B Y1 US55 ¢ ool G ril 83 g5 e 2SI ST s Gy 3
oM el GaedSTN des 8L e o5 -word_list &l PN

Alasy U szl word_dict JaedS’ JS 2555 word_list 4a3B Jsb della o (Llgll B
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You are given a string.Your task is to count the frequency of letters of the
string and print the letters in descending order of frequency.

e If the following string is given as input to the program: - aabbbccde
e Then, the output of the program should be:-b3a2c2d1e

LS I35 5 G gl el s dhed) G o 1SS Olo a Siegns s S3llae]

aabbbccde — sl ) M AS LI Akl slas] (5 15) @
b3a2c2dlel - bzl A oS ol com M3 un @

:2gAll
s = list(input())
dict_count_ = {k: s.count(k) for k in s}
list_of_tuples = [(k, v) for k, v in dict_count_.items()]
list_of_tuples.sort(key=lambda x: x[1], reverse=True)
for item in list_of_tuples:
print(item[0@], item[1])
:ChatGPT ¢ juw

The following code in Python takes an input string, s, and performs the
following actions:

1. Creates a dictionary, dict count, where each character in the string is a

key and its value is the count of that character in the string.

2. Creates a list of tuples, list of tuples, where each tuple consists of a
character and its count.
Sorts the list of tuples in descending order of the count of characters.
4. Prints the character and its count for each tuple in the sorted list.

w

I Sl Y sy o5 (JBaf Alds 5L BN 5 S s

P b 05555 Bl ALl GO > S 050 S dict count, (Lagali 2 L1
Al G0 a sae
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